227 N. Fourth Street Geneva, Illinois 60134 630/463-3000 630/463-3020

Fax: 630/463-3029

**Scott K. Ney** Director of Facility Operations



## Community Unit School District 304

TO: Dr. Kent Mutchler

FROM: Scott Ney

RE: 2017-18 Custodial Supply/Paper Bid Results

DATE: August 18, 2017

Bids were publicly posted on Thursday, May 11, 2017 in the Kane County Chronicle.

On Thursday, June 1, 2017 at 1:00pm, bids were opened and read aloud for annual Custodial Supply/Paper Bid Results.

Bids have been requested to purchase custodial paper and supplies needed for the 2017-18 school year. The District, at its option, may extend this Agreement for up to four (4) additional one (1) year terms if the contractor holds firm to the original bid conditions and specifications with no more than a 3% price increase.

Eighteen (18) bidders were invited to bid and seven (7) responded. The results are shown on the attached spreadsheet. The low bidder for each item is highlighted.

Totals by vendor are as follows:

All American Paper	\$23,204.27
*All American Poly	\$0.00
Arthur Williams Industry	\$1,573.99
Facility Supply Systems	\$18,040.60
HP Products	\$8,328.42
North American	\$12,910.50
Pike Systems	\$10,666.05
Total	\$74,723.83

Due to limited storage, bid specifications required bidders to have a warehouse or product distribution center within fifty (50) miles driving distance of the Administrative Offices in order to facilitate delivery of product within 24 hours.

<sup>\*</sup>Did not meet bid requirement of fifty (50) mile range.

2017-18 CUSTODIAL SUPPLIES BID

<u>DESCRIPTION</u>	PART #	UNIT OF MEASURE	QUANTITY NEEDED	All American Paper	All American Poly	Arthur Williams Industry	Facility Supply Systems	HP Products	North American	Pike Systems
ADDENDA 1				5/17/2017	5/17/2017	5/17/2017	5/17/2017	5/17/2017	5/17/2017	5/17/2017
ADDENDA 2				5/17/2017	5/17/2017	5/17/2017	5/17/2017	5/17/2017	5/17/2017	5/17/2017
ADDENDA 3				NONE	5/22/2017	5/22/2017	NONE	5/22/2017	5/22/2017	5/22/2017
32 OZ BOTTLE W/TRIGGER SPRAY		EA	50	\$0.56/ea (\$28)	DID NOT MEET BID SPEC	\$1.72/ea (\$86)	NO BID	\$1.01/ea (\$50.50)	\$.88/ea (\$44)	\$1.15/ea (\$57.50)
PUTTY KNIFE 1 1/2" BLADE		EA	20	\$1.12/ea (\$22.40)	DID NOT MEET BID SPEC	2.80/ea (\$56)	NO BID	\$4.35/ea (\$87)	\$1.78/ea (\$35.60)	NO BID
RAZOR SAFETY SCRAPER		EA	150	\$0.88/ea (\$132)	DID NOT MEET BID SPEC	\$2.17/ea (\$325.50)	NO BID	\$1.46/ea (\$219)	\$1.43/ea (\$214.50)	\$6.25/ea (\$937.50)
RAZOR BLADES - 1 1/2" #9 STANDARD		100 EA/BX	10	\$10/box (\$100)	DID NOT MEET BID SPEC	\$6.50/box (\$65)	NO BID	\$9.87/box (\$98.70)	\$9.73/box (\$97.30)	NO BID
SCRUB SPONGE - 3" X 6"		EA	200	\$.64/ea (\$128)	DID NOT MEET BID SPEC	\$.71/ea (\$142)	NO BID	\$1.81/ea (\$362)	\$3.23/ea (\$646)	\$1.06/ea (\$212)
LAMBSWOOL EXTENSION DUSTER 30'-60'		EA	40	\$5.04/ea (\$201.60)	DID NOT MEET BID SPEC	\$6.78/ea (\$271.20)	NO BID	\$1.76/ea (\$70.40)	\$5/ea (\$200)	\$6.96/ea (\$278.40)
TOILET BOWL JOHNNY MOP		EA	100	\$0.64/ea (\$64)	DID NOT MEET BID SPEC DID NOT MEET	\$1.09/ea (\$109)	NO BID	\$0.71/ea (\$71)	\$.63/ea (\$63) \$22.73 / 60 pkg	\$1.13/ea (\$113)
TERRYCLOTH TOWELS 14"X17" - WHITE		60/PKG	12 PKGS	NO BID	BID SPEC DID NOT MEET	\$.31/ea (\$225.99)	NO BID	NO BID	(\$272.76)	NO BID
GLASS CLEANING MICROFIBER TOWELS 16"X16" - BLUE		24/CS	41 CS	14.24/cs (\$583.84)	BID SPEC DID NOT MEET	\$15.17/cs (\$621.97)	NO BID	\$10/cs (\$410)	\$19.54/cs (\$801)	\$33.93/cs (\$1,391.13)
GREENBACK SPONGES - MED DUTY SCRUBBING SPONGE		20/BOX	12 BOXES	\$14.10/box (\$169.20)	BID SPEC DID NOT MEET	\$14.20/box (\$170.40)	NO BID	\$22.20/box (\$266.40)	\$12.92/box (\$155)	\$17.95/box (\$215.40)
5"x18" MICROFIBER MOP HEAD - HEAVY DUTY		EA	600	\$2.28/ea (\$1,368)	BID SPEC	\$4.98/ea (\$2,988)	NO BID	\$6.50/ea (\$3,900)	\$3.02/ea (\$1,812)	\$4.71/ea (\$2,826)
BUCKET / WRINGER COMBO DOWNPRESS		EA	6	\$56.85/ea (\$341.10)	DID NOT MEET BID SPEC	\$61.83/ea (\$370.98)	\$183/ea (\$1,098)	\$36.28/ea (\$217.68)	\$37/ea (\$222)	\$87.66/ea (\$525.96)
WET MOP - 20 OZ COTTON		12 X EA	5 CS	\$35.25/cs (\$176.25)	DID NOT MEET BID SPEC	\$39.96/cs (\$199.80)	\$38.22/cs (\$191.10)	\$27.18/cs (\$135.90)	\$33/cs (\$165)	\$54.21/cs (\$271.05)
CLIP ON DUST MOP HANDLE		EA	12	\$4.87/ea (\$58.44)	DID NOT MEET BID SPEC	\$10.44/ea (\$125.28)	\$9.62/ea (\$115.44)	\$3.64/ea (\$43.68)	\$6.92/ea (\$83)	\$8.65/ea (\$103.80)
ANGLE BROOM 51" LONG	_	EA	12	\$4.49/ea (\$53.88)	DID NOT MEET BID SPEC DID NOT MEET	\$7.88/ea (\$94.56)	NO BID	\$3.55/ea (\$42.60)	\$4.70/ea (\$56.40)	\$14.67/ea (\$176.04)
LOBBY DUST PAN		EA	24	\$7.59/ea (\$182.16)	BID SPEC DID NOT MEET	\$13.15/ea (\$315.60)	NO BID	\$5.46/ea (\$131.04)	\$5.58/ea (\$134)	\$14.36/ea (\$344.64)
LOBBY BROOM 35"		EA	12	\$3.10/ea (\$37.20)	BID SPEC	\$8.14/ea (\$97.68)	NO BID	\$2.24/ea (\$26.88)	\$2.28/ea (\$27.36)	\$6.57/ea (\$78.84)
DOODLEBUG STRIP PAD		5 PADS/BX	10 BOXES	\$14.80/box (\$148.00)	DID NOT MEET BID SPEC DID NOT MEET	\$4.14/box (\$41.40)	NO BID	\$5.18/box (\$51.80)	\$13.60/box (\$136)	\$4.90/box (\$49)
DOODLEBUG HOLDER		EA	12	NO BID	BID SPEC DID NOT MEET	\$7.15/ea (\$85.80)	NO BID	\$8.16/ea (\$97.92)	\$27.08/ea (\$325)	\$10.60/ea (\$127.20)
FINISH (WAS) MOPHEADS		12/CS	4 CS	\$54.37/cs (\$217.48)	BID SPEC DID NOT MEET	\$102.24/cs (\$408.96)	NO BID	\$64.80/cs (\$259.20)	\$46.75/cs (\$187)	\$132.48/cs (\$529.92)
MEDIUM SIZE WET MOPHEADS		12/CS	5 CS	\$41.74/cs (\$208.70)	BID SPEC	\$86.92/cs (\$434.60) ALTERNATE #1 in their	NO BID	\$31.06/cs (\$155.30)	\$49/cs (\$245)	\$54.21/cs (\$271.05) ALTERNATE #1 in their
PRO-TEAM VACUUM BAGS (UPRIGHT)		20 PKGS/CS	25 CS	NO BID	BID SPEC	bid ALTERNATE #2 in their	\$180/cs (\$4,500)	\$118.80/cs (\$2,970)	\$103.40/cs (\$2,585)	bid  ALTERNATE #2 in their
PRO-TEAM VACUUM BAGS (BACKPACK-LARGE)		10 PKGS/CS	30 CS	NO BID	BID SPEC	bid  ALTERNATE #3 in their	\$120/cs (\$3,600)	\$68/cs (\$2,040)	\$96.10/cs (\$2,883)	bid  ALTERNATE #3 in their
PRO-TEAM VACUUM BAGS (QUARTER-VAC)		10 PKGS/CS	20 CS	NO BID	BID SPEC	bid	\$90/cs (\$1,800)	\$64.70/cs (\$1,294)	\$72/cs (\$1,440)	bid
					DID NOT MEET					
13" LOW SPEED BUFFING PADS - RED	1	5 EA/CS	10 CS	\$7.29/cs (\$72.90)	BID SPEC DID NOT MEET	\$9.67/cs (\$96.70)	\$9.65/cs (\$96.50)	\$8.58/cs (\$85.80)	\$7.39/cs (\$73.90)	\$11.35/cs (\$113.50)
14" LOW SPEED BUFFING PADS - RED		5 EA/CS	10 CS	\$8.23/cs (\$82.30)	BID SPEC DID NOT MEET	\$11.10/cs (\$111.00)	\$10.49/cs (\$104.90)	\$9.79/cs (\$97.90)	\$8.02/cs (\$80.20)	\$12.74/cs (\$127.40)
20" LOW SPEED BUFFING PADS - RED		5 EA/CS	10 CS	\$14.23/cs (\$142.30)	BID SPEC	\$17.76/cs (\$177.60)	\$19.24/cs (\$192.40)	\$16.59/cs (\$165.90)	\$14.08/cs (\$140.80)	\$21.79/cs (\$217.90)

All American Poly did not meet bid spec due to warehouse location not within 50 miles.

2017-18 CUSTODIAL SUPPLIES BID

<u>DESCRIPTION</u>	PART#	UNIT OF MEASURE	QUANTITY NEEDED	All American Paper	All American Poly	Arthur Williams Industry	Facility Supply Systems	HP Products	North American	Pike Systems	
14" x 20" LOW SPEED BUFFING PADS - RED		5 EA/CS	10 CS	\$16.90/cs (\$169)	DID NOT MEET BID SPEC	\$75.58/cs (\$755.75)	NO BID	\$57.88/cs (\$578.80)	\$17.66/cs (\$176.60)	\$26.53/cs (\$265.30)	
13" LOW SPEED STRIP PADS - BLACK		5 EA/CS	5 CS	\$7.29/cs (\$36.45)	DID NOT MEET BID SPEC	\$9.94/cs (\$49.70)	\$9.42/cs (\$47.10)	\$8.55/cs (\$42.75)	\$7.39/cs (\$36.95)	NO BID	<u> </u>
20" LOW SPEED STRIP PADS - BLACK		5 EA/CS	10 CS	\$14.23/cs (\$142.30)	DID NOT MEET BID SPEC	\$17.76/cs (\$177.60)	NO BID	\$17.07/cs (\$170.70)	\$14.10/cs (\$141)	\$21.98/cs (\$219.80)	
20" LOW SPEED SSS STRIP PADS - MAROON		5 EA/CS	5 CS	\$48.86/cs (\$244.30)	DID NOT MEET BID SPEC	\$17.76/cs (\$88.80)	NO BID	\$17.60/cs (\$88)	\$83.12/cs (\$415.60)	\$31.40/cs (\$157)	
14" x 20" LOW SPEED SSS STRIP PADS - MAROON		5 EA/CS	10 CS	\$66.87/cs (\$668.70)	DID NOT MEET BID SPEC	\$75.58/cs (\$755.75)	NO BID	\$125.27/cs (\$1,252.70)	\$118.28/cs (\$1,182.80)	\$72.33/cs (\$723.30)	
					DID NOT MEET						Av
GYM FINISH - SPORT KOTE - LOW VOC		5 GAL	1	\$220.00	BID SPEC DID NOT MEET	\$246.27	NO BID	NO BID	NO BID	\$258.29	lov ve
TOILET BOWL CLEANER		12 X 1 QT	36 CS	\$30.52/cs (\$1,098.72)	BID SPEC DID NOT MEET	\$26.40/cs (\$950.40) ALTERNATE #4 in their	NO BID	\$15.92/cs (\$573.12) \$141.64/cs	\$21.36/cs (\$769)	\$43.50/cs (\$1,566)	sp
RESTROOM CLEANER - HILLYARD-SUPROX	HIL0083225	4 GAL/CS	30 CS	NO BID	BID SPEC	bid	NO BID	(\$4,249.20)	NO BID ALTERNATE #1 in	\$94.26/cs (\$2,827.80)	4
FLOOR FINISH WAX		5 GAL	60	\$70.25 / 5 gal (\$4,215)	DID NOT MEET BID SPEC	\$77.88 / 5 gal (\$4,672.80)	ALTERNATE #1 \$61.83 / 5 gal (\$3,709.80)	\$117.24 / 5 gal (\$7,034.40)	their bid	\$66.95 / 5 gal (\$4,017)	
NEUTRAL FLOOR CLEANER - RMC-PERFECTO 7 / HILLYARD-TOPCLEAN		5 GAL	80	ALTERNATE #1 in their bid				\$54.07 / 5 gal (\$4,325.60)	ALTERNATE #2 in their bid	\$42.82 / 5 gal (\$3,425.60)	
FLOOR STRIPPER		5 GAL		\$61.12 / 5 gal (\$611.20)	DID NOT MEET BID SPEC	\$66.58 / 5 gal (\$665.80)	ALTERNATE #2 \$60.05 / 5 gal (\$600.50)	\$70.31 / 5 gal (\$703.10)	ALTERNATE #3 in their bid	\$94.12 / 5 gal (\$941.20)	
				<u> </u>	DID NOT MEET	ALTERNATE #6 in their	ALTERNATE #3	,	ALTERNATE #4 in		
ENVIROX H2ORANGE2 HYPER - CONCENTRATE 112 ENVIROX H2ORANGE2 HYPER - CONCENTRATE 112 DISPENSING SYSTEMS &		4 X 1 GAL/CS	120 CS	NO BID	BID SPEC DID NOT MEET	bid	\$68.76/cs (\$8,251.20)	NO BID	their bid	NO BID	-
INSTALLATION DISTRICT-WIDE				NO BID	BID SPEC DID NOT MEET	NO CHARGE	NO CHARGE	NO BID	NO CHARGE	NO BID	-
VINEGAR		4 X 1 GAL/CS	64 CS	\$8.85/cs (\$566.40)	BID SPEC	\$10.25/cs (\$656)	\$9.24/cs (\$591.36)	\$10.14/cs (\$648.96)	NO BID	NO BID	
LAUNDRY SOAP, LOW FOAM, POWDERED - MICROFIBER SAFE		50# PAIL	30	\$21.75 / pail (\$652.50)	DID NOT MEET BID SPEC	bid	NO BID	\$34.09 / pail (\$1,022.70)	NO BID	\$49.43 (\$1,482.90)	
FOOD GRADE DEGREASER - HEAVY DUTY		4 GAL/CS	15 CS	\$78.40/cs (\$1,176)	DID NOT MEET BID SPEC	ALTERNATE #8 in their bid	NO BID	\$177.33/cs (\$2,659.95)	ALTERNATE #5 in their bid	\$54.71/cs (\$820.65)	
DEGREASER - HEAVY DUTY - GENESAN-DELTA ULTRA	GEN212	4-2L BOTTLES/CS	15 CS	NO BID	DID NOT MEET BID SPEC	ALTERNATE #9 in their bid	NO BID	\$108.62/cs (\$1,629.30)	ALTERNATE #6 in their bid	\$120.14/cs (\$1,802.10)	
										\$118.86/cs (\$1,782.90) -	Av
SURFACE DISINFECTANT - HILLYARD-VINDICATOR / GENESAN-CONTACT 256	HIL0016806A / GEN 852	4 GALS & 4.5 GALS/CS	15 CS	NO BID	DID NOT MEET BID SPEC	ALTERNATE #10 in their bid	NO BID	\$160.70/cs (\$2,410.50)	ALTERNATE #7 in their bid	Vindicator+ / \$120.58/cs (\$1,808.70) - Contact 256	/ ve
GLASS & PLASTIC CLEANER		12 X 20 OZ (240 oz.)	10 CS		DID NOT MEET BID SPEC	\$39.56/cs (\$395.60)	NO BID	\$21.14/cs (\$211.40)	ALTERNATE #8 in their bid	\$49.50/cs (\$495)	sp gre
		(240 02.)			DID NOT MEET				ALTERNATE #9 in		Av
STAINLESS STEEL CLEANER			10 CS	\$34.75/cs (\$347.50)	BID SPEC	\$58.98/cs (\$589.80)	NO BID	\$40.06/cs (\$400.60)	their bid	\$152.44/cs (\$1,524.40)	lov ve
DUSTMOP TREATMENT - SUPER HIL-TONE		12 QTS/CS	3 CS	ALTERNATE #2 \$34/cs (\$102)	DID NOT MEET BID SPEC	\$45.50/cs (\$136.50)	NO BID	\$169.31/cs (\$507.93)	NO BID	\$134.04/cs (\$402.12)	sp gre
28 QT OFFICE WASTEBASKET - BEIGE		EA	12	\$8/ea (\$96)	DID NOT MEET BID SPEC	\$6.65/ea (\$79.80)	NO BID	\$3.11/ea (\$37.32)	\$3.17/ea (\$38)	NO BID	
28 QT OFFICE WASTEBASKET - BLUE		EA	12	\$8/ea (\$96)	DID NOT MEET BID SPEC	\$6.83/ea (\$81.96)	NO BID	\$3.52/ea (\$42.24)	\$3.58/ea (\$43)	NO BID	
32 GAL. BRUTE CONTAINER		EA	12	\$25.25/ea (\$303)	DID NOT MEET BID SPEC	\$35.57/ea (\$426.84)	NO BID	\$9.42/ea (\$113.04)	\$9.58/ea (\$115)	NO BID	
14 GAL RECYCLING BIN - BLUE		EA	12	NO BID	DID NOT MEET BID SPEC	\$23.29/ea (\$279.48)	NO BID	\$8.72/ea (\$104.64)	,	NO BID	
TWIN JUMBO T.T. DISPENSER - 9" ROLLS		EA	20	\$30.40/ea (\$608)	DID NOT MEET BID SPEC	\$32.28/ea (\$645.60)	NO BID	\$15.31/ea (\$306.20)	, , , , , ,	NO BID	
					DID NOT MEET						4
CLOSET PLUNGER		EA	20	NO BID	BID SPEC DID NOT MEET	\$4.49/ea (\$89.80)	NO BID	\$4.30/ea (\$86)	\$4.25/ea (\$85)	NO BID	1
JANITOR CART		EA	10	\$105.75/ea (\$1,057.50)	BID SPEC	\$119.04/ea (\$1,190.40)	NO BID	\$90.59/ea (\$905.90)	\$94.30/ea (\$943)	\$270.43/ea (\$2,740.30)	

Awarding item to next lowest bid because other vendors did not meet bid spec.

Awarding item to next lowest bid because other vendors did not meet bid spec due to not being a green product.

Awarding item to next lowest bid because other vendors did not meet bid spec due to not being a green product.

TALLY SHEET WITH VENDORS 2017-18 CUSTODIAL SUPPLIES BID

<u>DESCRIPTION</u>	PART#	UNIT OF MEASURE	QUANTITY NEEDED	All American Paper	All American Poly	Arthur Williams Industry	Facility Supply Systems	HP Products	North American	Pike Systems
						_	-			\$166/ea (\$1,660) - Tri-
					DID NOT MEET				\$129.65/ea	Grip \$207.57/ea
FLOOR MATS 4' X 8' CHARCOAL		EA	10	\$160/ea (\$1,600)	BID SPEC	\$93.40/ea (\$934)	\$91/ea (\$910)	\$39.72/ea (\$397.20)	(\$1,296.50)	(\$2,075.70) - Waterhog
HARDWOUND ROLL TOWEL 8" X 800' BROWN - GEORGIA PACIFIC 54338		0.01./00		#05.00/ (#44.044)	DID NOT MEET	005.00/ (040.450)	000.00/ (00.440)	00454/ (040.004)	#00.00/ (#0.000)	NO DID
DISPENSER		6 RL/CS	400	\$35.86/cs (\$14,344)	BID SPEC	\$25.39/cs (\$10,156)	\$23.60/cs (\$9,440)	\$34.51/cs (\$13,804)	\$22.30/cs (\$8,920)	NO BID
TWO DLV HANDO TOUET TICOUE		40 DL /00		Φ40 00/ (Φ0 040)	DID NOT MEET	Φ00.05/ (Φ4.4 <b>7</b> 0)	#00.00/ (#4.040)	Φ40 00/ (Φ0 000)	Φ40 40/ (Φ0 000)	NO DID
TWO PLY JUNIOR JUMBO TOILET TISSUE		12 RL/CS	200	\$19.20/cs (\$3,840)	BID SPEC DID NOT MEET	\$20.85/cs (\$4,170)	\$20.09/cs (\$4,018)	\$19.90/cs (\$3,980)	\$19.40/cs (\$3,880)	NO BID
TWO PLY FACIAL TISSUE 150 SHEETS/BX		36 BX/CS	12	\$17.05/cs (\$204.60)	BID SPEC	\$14.20/cs (\$170.40)	NO BID	\$22.71/cs (\$272.52)	\$26.92/cs (\$323)	NO BID
TWO PLT FACIAL 1135UE 130 SHEETS/BA		30 BA/CS	12	\$17.05/05 (\$204.60)	DID NOT MEET	\$14.20/CS (\$170.40)	INO BID	φ22.7 1/CS (φ272.52)	\$20.92/CS (\$323)	NO BID
QUARTER FOLD NAPKINS 12" X 13"		6000/CS	6	\$29.73/cs (\$178.38)	BID SPEC	\$37.39/cs (\$224.34)	\$29.01/cs (\$174.06)	\$38.90/cs (\$233.40)	\$42.50/cs (\$255)	NO BID
QUARTER FOLD INAFRING 12 X 13		0000/03	0	\$29.73/CS (\$178.38)	DID NOT MEET	φ37.39/65 (φ224.34)	φ29.01/65 (φ1/4.00)	φ30.90/05 (φ233.40)	φ42.50/c5 (φ255)	NO BID
MULTI-FOLD HAND TOWEL		4000/CS	50 CS	\$17.20/cs (\$860)	BID SPEC	\$18.08/cs (\$904)	\$17.68/cs (\$884)	\$17.03/cs (\$851.50)	\$14.17/cs (\$708.50)	NO BID
WIDETI-I OLD HAND TOWEL		4000/03	30 03	\$17.20/CS (\$000)	DID NOT MEET	ALTERNATE #11 in	ψ17.00/03 (ψ004)	ψ17.03/63 (ψ031.30)	ALTERNATE #10 in	NO BID
CAN LINER 33 X 39 LOW D BLACK 1.35 MIL		100/CS	800	\$15.29/cs (\$12,232)	BID SPEC	their bid	\$19.42/cs (\$15,536)	NO BID	their bid	NO BID
SAN EINER OF A GO EOW B BEACK 1.00 MIE		100/00	000	ALTERNATE #3 -	DID NOT MEET	ALTERNATE #12 in	Ψ13.42/03 (Ψ10,000)	140 BIB	ALTERNATE #11 in	INO BIB
CAN LINER 24 X 32 LOW D ROLLS .60 MIL		20 X 25/CS	100		BID SPEC	their bid	\$80.90/cs (\$8,090)	NO BID	their bid	NO BID
		20 / 20/00		<del></del>	DID NOT MEET		+ + + + + + + + + + + + + + + + + + +			
BOLD BLACK NITRILE GLOVES - P F 100/BX - MIN. 5 MIL THICKNESS - MEDIUM	73997	10 BX/CS	20 CS	\$119.85/cs (\$2,397)	BID SPEC	ALTERNATE #13	NO BID	\$60.71/cs (\$1,214.20)	\$60.22/cs (\$1.204.40)	\$57.10/cs (\$1,142)
				,	DID NOT MEET	-	-	, , , ,	(+ ,	,
BOLD BLACK NITRILE GLOVES - P F 100/BX - MIN. 5 MIL THICKNESS - LARGE	73998	10 BX/CS	20 CS	\$119.85/cs (\$2,397)	BID SPEC	ALTERNATE #14	NO BID	\$60.71/cs (\$1,214.20)	\$60.22/cs (\$1,204.40)	\$57.10/cs (\$1,142)
BOLD BLACK NITRILE GLOVES - P F 100/BX - MIN. 5 MIL THICKNESS - X-				, , ,	DID NOT MEET			,	,	, , , , , , , , , , , , , , , , , , ,
LARGE	73999	10 BX/CS	20 CS	\$119.85/cs (\$2,397)	BID SPEC	ALTERNATE #15	NO BID	\$60.71/cs (\$1,214.20)	\$60.22/cs (\$1,204.40)	\$57.10/cs (\$1,142)
					DID NOT MEET		ALTERNATE #4		ALTERNATE #12 in	ALTERNATE #4 in their
GOJO FOAMING HAND SOAP		8/CS	100 CS	NO BID	BID SPEC	\$40.95/cs (\$4,095)	\$29.02/cs (\$2,902)	\$58.76/cs (\$5,875.50)	their bid	bid
					DID NOT MEET					ALTERNATE #5 in their
GOJO FOAMING HAND SOAP DISPENSERS & INSTALLATION - DISTRICT-WIDE				NO BID	BID SPEC	NO CHARGE	NO CHARGE	NO BID	NO CHARGE	bid
					DID NOT MEET		Alternate #5 \$44.12/cs		ALTERNATE #13 in	ALTERNATE #6 in their
GOJO HAND SANITIZER NON ALCOLHOL		8/CS	12 CS	NO BID	BID SPEC	\$69.65/cs (\$835.80)	(\$529.44)	\$58.73/cs (\$704.76)	their bid	bid
GOJO HAND SANITIZER NON ALCOLHOL DISPENSERS & INSTALLATION -					DID NOT MEET					
DISTRICT-WIDE				NO BID	BID SPEC	NO CHARGE	NO CHARGE	NO BID	NO CHARGE	NO CHARGE
					DID NOT MEET					
DEFOAMER		4 GAL/CS	6 CS	\$59.88/cs (\$359.28)	BID SPEC	\$65.05/cs (\$390.30)	NO BID	\$22.85/cs (\$137.10)	NO BID	\$110.43/cs (\$662.58)
TOTALS				\$23,204.27		\$1,573.99	\$18,040.60	\$8,328.42	\$12,910.50	\$10,666.05 \$7